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Rechnen mit Variablen innerhalb von 1.000 Name:

Finde den Wert des Buchstaben. Antworten
1) 231+B =541 B=

1.
2) 308+348=C C=

2.
3) E+840=994 E=

3.
4) 762=306+F F=

4.
5 G=830-509 G=

5.
6) 429-427=H H=

6.
7) 802=J+ 208 J=

7.
8) 496-252=K K =

8.
9) 252=L-537 L=

9.
10) 946-M = 767 M =

10.
11) N=771-674 N =

11.
12) 288=733-P P=

12.
13) Q+388=703 Q=

13.
14) 788+ 173=R R=

14,
15) S=651+ 149 S=

15.
16) T =197 + 419 T=

16.
17) U-238=519 U=

17.
18) 594=V + 351 V=

18.
19) 905=495+W W =

19.
20) 908-Y =904 Y =

20.
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Rechnen mit Variablen innerhalb von 1.000 Name: L Osungsschlissel
Finde den Wert des Buchstaben. Antworten
1) 231+B =541 B= 310
— 1 310
2) 308+348=C C= 656
— 5 656
3) E+840=99% E= 154
— 3, 154
4) 762=306+F F= 456
— 4 456
5 G=830-509 G= 321
— 5 321
6) 429-427=H H= 2
6. 2
7) 802=J+ 208 J= 594
— 7 594
8) 496-252=K K= 244
—_— 8 244
9) 252=L -537 L= 789
—_— 9 789
10) 946-M =767 M= 179
— 10. 179
11) N =771-674 N= 97
11, 97
12) 288=733-P P= 445
_ 12, 445
13) Q+388=703 Q= 315
— 13 315
14) 788+ 173=R R= 961
— 14, 961
15) S=651+ 149 S= 800
— 15, 800
16) T =197 + 419 T= 616
— 16. 616
17) U-238=519 U= 757
— 17 757
18) 594=V + 351 V= 243
18. 243
19) 905=495+W W= 410
19. 410
20) 908-Y =904 Y= 4
20. 4
1-10 195(90(85|80| 7570|6560 |55 |50
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Rechnen mit Variablen innerhalb von 1.000 Name:
Finde den Wert des Buchstaben. Antworten
594 179 244 321
656 310 154 97 1.
456 445 2 789
2.
1) 231+B=541 B=
3.
2) 308+348=C C= 4
5.
3) E+840=994 E-=
6.
4) 762=306+F F= 7
8.
5 G=830-509 G=
9.
6) 429-427=H H= 10.
11.
7) 802=J+ 208 J=
12.
8) 496-252=K K=
9) 252=L-537 L=
10) 946-M =767 M =
11) N=771-674 N =
12) 288=733-P P=
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